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A body weights/2 N on the surface of the earth, what is the gravitational force on it, at a height
equal to half the radius of earth ?

(1) 18N (2) 32N (3) 30N
Correct option is 2
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Correct otion is 2
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Correct optionis 3
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Correct option is 3
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Correct option is 2
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Correct option is 3
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Correct option is 2
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E = kg
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Correct opion IS 4
&‘b Fex boo\'kiv\% ‘3‘0 rangstor
Emitey — Modevoke e ond wenily doped
maze —  tmallest onsk (eagt Soped

Collector — lavgest ?k'ée ond modf.mkl\[

deped.
ans - (4Y

Correct option is 4
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Correct optionis 1
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Correctoption is 1
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Correct option is 2
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Correct option is 4
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Correct option is 1
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Correct option is 2
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